3406 A 280 (HIER)

MR RESEH S (A15) 218 B #H

B ESeHAsE: 2383 kv
([l EHERESD)
RE &h i ENFE = (ke) AR Y5 tExIER 5|
AH BY5E GiEES) Hiike | SfEMA) | EE) | ®EM) | SEE) | $EME) [ RiEE)
130100 [FZLMNC A # 11,305
dtiEE 5,620 1,290 4,330 10 1,080 1,404 810
L 5,645 3,295 2,350 10 1,080 972 1,620 864
130340 [;£IZALA % 10,613
LS 6,000 0 6,000 10 1,512 972
£EE 3,763 23 3,740 10 1,296 1,512 432
G 700 0 700 10 594 270
130400 [C1F5 % 928
L 300 0 300 10 - - - 1,512
HE 180 0 180 10 4,320
mS 160 0 160 10 3,780 1,512
fE 120 0 120 10 1,004
130600 (LA C A gk 366
mS 366 0 366 ] - - - 2,268 648
131100 [E 3 % 18,195
K& 18,195 5,670 12,525 15 1,080 648 1,814 648
131700 [Fr Y % 37,565
Ik 12,275 2,300 9,975 10 972 216 1,404 54
HE 5,000 0 5,000 10 1,296 648
£ 12,610 5,490 7,120 10 1,242 756 1,296 540
50 2,040 0 2,040 10 972 702
£EE 5,640 5472 168 15 994 810
131800 |[[(FS5ShAE % 1,591
I B 756 97 659 3.6 Z, 808 3,240 1,944
£EE 520 460 60| 02 173 130 103 81
mS 2 2 o[ o008 76
fa ] 135 0 135 45 2,700 1,350
131910 [HHF % 3,488
N 50 0 50 05 702 292
£EE 25 5 20 o5 270 270
it Ll 220 0 220 1 756 216
E| 2,243 125 2,118 10 972 3,132 2,430
s 890 0 890 10 2,916 2,700
= 20 0 20 o5 162
131950 |H4a=E % 4,298
B 1,903 472 1,431 3 1, 404 1,296 1,512 864
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3406 A 280 (HIER)

MR RESEH S (A15) 218 B #H

Frx ETHaghE: 2383 kv
([l EHERESD)
RE &h i ENFE = (ke) AR Y5 tExIER 5|
AH BY5E HExt Hiike) | &EM) | EAE) [ ®EME) | &EE) [ $EME) | RiEEFE)
fE 125 0 125 5 788
133400 [LA R % 34,400
£ 34,400 17,520 16,880 10 1, 620 324 1,566 432
134100 |EA/R % 25,391
dtiEE 500 250 250 5 1,242 1,134
= 880 580 300 5 1,490 1,350 1,674
£EE 824 174 650 10 1,728 1,728 1,404
mS 1,142 90 1,052 5 1,512 1,080 1,523 540
E| 2,985 870 2,115 5 1,350 432 1,728 432
IR 12,550 4,770 7,780 5 1,480 594 1,566 486
= 1,065 1,065 0 5 1,296 648
= 1% 4,300 2,660 1,640 10 756 486 756
134200 | /R % 2,975
Al 5 0 5 5 1,620
EiG 810 0 810 10 2,376 2,160
REAR 60 0 60 10 1,944 1,620
AFT O 2,100 0 2,100 10 - - - 1,188 648
134300 | A0 F % 7,318
NI 88 8 80 4 1,620 2,376 1,296
=B 42 12 30 2 864 864
3o 2,218 15 2,203 5 2,376 2,376 1,080
s 168 40 128] 04 162 162 140
= 3,089 532 2557 0.3 86 86 76
fa ] 498 75 423 03 151 140 113
134400 [F<k % 10,566
Al 1,340 0 1,340 4 1,512 1,210
EE 3,241 7 3234 0.2 76 49
mS 1,964 0 1,964 4 1,512 756
R 671 0 671 4 1,080 756
REAR 2,430 168 2,262 4 1,728 1,296 1,836 648
134500 [E—< > % 13,831
s 221 0 221 0.15 76 54
= 704 101 603[ 0.15 54 40 19
= 1% 1,303 251 1052 0.13 43 1 19 16
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3406 A 280 (HIER)

MR RESEH S (A15) 218 B #H

B ESeHAsE: 2383 kv
(R IFEERESD)
RE &h i ENFE = (ke) AR Y5 tExIER 5|
AH BY5E HExt Hiike) | &EM) | EAE) [ ®EME) | &EE) [ $EME) | RiEEFE)
134700 [&58HAZL % 6,690
25 3,340 150 3,190 5 1, 166 1,588 626
£EE 560 0 560 5 1,512 432
mS 280 0 280 5 1,588 648
135100 |[LWAVIF A % 176
£ 22 0 22 2 2,916 1,620
FEL 20 0 20 2 864
mS 60 0 60 2 - - - 2,808 2,592
= 46 0 46 2 2,808 1,674
REAR 18 0 18 2 3,240 864
BR 10 0 10 2 1,620
135200 | = % 69
dtiEE 30 8 22 ] Z.376 2,484 2,376
mS 25 0 25 1 1,080
135500 |A 2= % 504
gz & 504 0 504| 0.18 - - - 238 81
136100 [MAL & % 14,580
FE 120 0 120 5 1,458
mS 625 0 625 5 1,620 540
=G 2,400 100 2,300 5 Z 316 Z. 160 2,916 1,296
136200 | HE#5E % 3,700
EiG 3,100 0 3,100 10 - - - 1,145 702
136210 | A—HD (> % 11,390
EiG 3,020 90 2,930 10 1,944 1,728 1,944 864
REAR 8,370 5,000 3,370 10 1,296 972 1,361
136300 | B3 % 620
BR 420 0 420 ] - - - 648 108
fE 200 0 200 10 1,728
136600 |f=FH=x % 13,870
dtiEE 10,000 10,000 0 20 2,090
£E 3,870 3,710 160 10 1,652 864 2,160 1,296
138100 | LU =1T % 2,301
£EE 130 25 105 5 3,240
3o 1,408 36 1,372 0.2 221 216 216 76
138500 |LSHLE % 1,535
K& 1,505 239 1,266 0.2 65 59 63 52
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413406 B 280 (AERA)

R RENFEHIS (A15) 2B B #H

= EFEatiE: 4141
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240110 [/ \NDRH A % 496
iR 370 355 10 5 6. 480 5. 400 7,020
242320 (33 —ILk % 3,400
= 3,400 470 2,930 10 3. 672 3. 240 3,564 2,160
242830 [ S\CYAC ¥ 3,170
= 3,170 1,280 1,890 10 3. 672 Z 160 3,996 1,404
244200 [FAEBHD ¥ 6,649
ITEY] 1,038 0 1,038 5 4,860 3,240
Faxl 5,354 4,450 904 7 3. 564
E 193 193 0 35 1,674
244530 |EH 9 H% ¥ 1,093
[IET 9 9 0 15 2,592
3Rl 1,084 1,084 ol 0.5 324 216
244750 [ ESED a3 12
K& 12 0 12 0.2 - - - 648 540
245220 | T2 ITT SAES 3 758
N 758 240 518] 0.3 346 292 346 270
245230 |[BIESES “ 539
£ 4 0 4 035 972
= 535 335 200/ 0.35 594 540 702 540
246000 (V6T ¥ 10
®me 4 0 4 03 540 432
0 6 6 of 0.3 432
247100 |[7—JLR A a3 856
E4 il 332 111 2211 8.5 11, 880 5.616 15,120 6,480
=50 320 0 320 8 4,536 2,268
= 204 204 0 8.5 4,860 2,160
247568 |#HhIAO> @ 2,410
R 2,135 1,260 875 5 Z2.376 1,188 2,376 1,728
5 275 0 275 5 2,268
248300 [EEHh 9 LVvA % 20,150
=50 6,975 3,045 3,930 15 4212 2,052 4,320 756
BE 13,175 3,984 9,192 15.5 5. 076 Z. 316 5,400 2,376
248800 |Z - F I a3 1,530
& 1,530 30 1,480 10 3,024 3,456 2,376




SF34E06 A 28H (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 12.1 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

101 | RERT=\ 794 288 506 Kg | 972 216] e 1,080 216
102 |[ZHEIZW 2,524 2,524 Kg g 2,916 324
111 |H"EITED 757 59 698 Kg | 432 378] & A 1,242 259
113 | REROBH 178 88 90 Kg | 1,188 377|f )i 2,700 720
114 |5 -H 136 136 Kg it [E] - BT S 2,376 756
115 [/ 44 9 35 Kg [E=k 900 216 | fejE 1,296 396
117 [13n 1,115 122 993 Kg |&fE 1,080 11| fefE 3,623 108
121 |»bixxE 15 11 4 Kg | 540 270 FoE 540

134 [7=Z 312 242 70 Kg |&=E-FI 1,404 700] S )i 1,404 756
140 |DIT 15 15 Kg B|&ES 28,080 18,360
147 [EX O 85 15 70 Kg |&fE 4,320 3,024 7hHE - FoJEE 8,640 3,500
158 | A LD 440 6 434 Kg [|ERE 756 ) 1,404 670
201 |Vl 1,158 1,158 Kg T3 378 72
203 |/hHL 153 153 Kg & I 324 247
205 [#LHL 2 2 Kg Lo 600

206 |1 476 476 Kg Lo 864 266
207 [SAE 8 8 Kg JbvEE 594

208 [0k 609 609 Kg ] 1,404 154
209 |[IHH000 350 350 Kg AN 691 583
210 [iFA Vg 260 260 Kg [|EIR 3,510 1,080

212 |FHESD 92 92 Kg PSS 1,674 650
251 [KAXSA 326 186 140 Kg [SHL 1,976 1,760 % 4% 5,994 2,892
252 [WAEESA 191 191 Kg |mi57 2,603 2,441

254  |[&HIEESAH 673 118 555 Kg |foEkL 1,274 864/ 5 1,458 464
303 [HAZEW 70 37 33 Keg A 504 40171 648

305 |FERnoB 19 19 Kg frJE 3,024 2,592
306 [WEXD 55 46 9 Kg [ILA 792 443 A 972

319 [&Hh5 270 73 197 Kg |&fE 756 78| EE. — & 1,500 395
332 | EA BPE 383 383 Kg E|RES 1,512 1,404
351 [AEH 3 3 Kg L 14,364

354  [1ZFEH 38 25 13 Kg [T 1,296 1,080 T2 1,296 945
355 [HV 225 225 Kg REA. — 1,188 500
356 [LUA 100 100 Kg F5EL 1,080 324
357 |RHE 8 8 Kg HEE[E] 1,728 1,350
358 [KxH 10 10 Kg A 1,296

401 [Hwp 150 150 Kg ) 1,350 432
402 [H7pE 50 50 Kg S 4,590 3,132




PO T FR YL ISR T (AN Y) B H
SFN34E06 A 28H (HHEH)

R EIbng e = 4.5 %
(S I E B B )
4, e EN7EH (kg P wh5E FEXFELS |
o []s] A

Z—R AH wY5E FEXFELS | PEH EAEFD | FP ()] Z2fiE () PEH EAEF) | FAEE) | ZEE)
512 | M 60 60 Kg BIRES 950 780
523 [T 2O 98 98 Kg Fg 7 - ALEE 2,376 611
558 |FRfA 130 130 Kg Jbre 861 734
560 |mUR7-Z 120 120 Kg )7 810

566  [HWEHT 10 10 Kg Jbre 3,400

576  [HmERSS 80 80 Kg B RERE R3] 1,242 730
581 |WEITLE 4,000 4,000 Kg E|RES 632 432




SF34E06 A 28H (HHER)

F A R RS T S (AE5) BHE H

T EIbng e = 9.9 %
(S I E B B )

0 Fe sk H05E H%
:Siﬁ* 5 izl %; (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 8,699 8,184 515 Kg | 1,580 754 | f i 1,328 842
705 [7=3<D 444 9 435 Kg [ILA 2,268 L 2,484 1,458
710 |95 HIF 70 70 Kg Koy 702 567
751 |E i 33 33 Kg R 2,268 872
755  [BEHL 22 22 Kg B[Sz 748 684
756 [BHET 24 24 Kg |&TR 720
761 |BUHASEE 72 72 Kg LS - Frsik (L 1,548 900
768 [E-Z 15 15 Kg FE T 1,960 1,500
801 [HEfALEIF 210 210 Kg E|RES 2,592 950
802 |HE1F 10 10 Kg JbifEE 918
804 |HiE 8 8 Kg =F 2,268
805 [HXIT 237 237 Kg E[REE 756 324
810 [B K+ 81 81 Kg E[REE 3,780 1,777




